Name:  _____________________________ (please print)
Signature: __________________________

ECE 2202 – Quiz #4
June 30, 2023

Do not open this quiz until you are told to begin.


1.  This quiz is closed book, closed notes.  You may use one 8.5” x 11” crib sheet, or its equivalent.  You may use a calculator. You should not use a cell phone, tablet computer, or laptop computer, as you work on this quiz.
2.  Show all work on these pages, and you may use both sides of each page.  Show all work necessary to complete the problem.  A solution without the appropriate work shown will receive no credit.  A solution which is not given in a reasonable order will lose credit.  You may separate the pages as you work.    
3.  Show all units in solutions, intermediate results, and figures.  Units in the quiz will be included between square brackets.
4.  Do not use red ink.  Do not use red pencil.
5.  You will have 40 minutes to work on this quiz.


________________/20
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Room for extra work



The circuit given below operates in steady-state. 
a) Redraw the entire circuit in the Phasor Domain.  For this step, do not simplify the circuit.  
b) Find a numerical expression for vA(t) as a function of time t.  You may simplify the circuit for this step, if you wish.
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The circuit given below operates in steady-state.
a) Redraw the entire circuit in the Phasor Domain. For this step, do not
simplify the circuit.
b) Find a numerical expression for v4(?) as a function of time ¢£. You may
simplify the circuit for this step, if you wish.

in(t)

e

Lt 680

™~ C; = 180[WF] L-
7.4[S]v,  -olmH]

Cy= 470[uF]

8.2[Q]

ic(t)=12[A]sin[450{@}t+17°J You do not need to take

s this step, but for additional

rad Clqrify we will cdefine the
vD(t):25[V]cos(450[—}t+56°] phasors and ?m)oeo(«n‘*’-‘

S
befere redvawing.

IR Hso[rmt/s](éaimn}) = 3795 (03| (3¢ e\next
. Q
2 p 950 s (6 fmid) = 2525003 [ (13

2,c 25450 [rad/s3 (YRgmHI) =183 {3





image4.jpeg
Room for extra work

2., = 2 = -4.172a8l)
AT ofur)( 450£%247) RS 10

Zc

gz =-12.3%6; {3
()80&4F3>("I§0["”‘%D

T =(ams-1%)
V. = (@assiLse”)

ANow, we can redvaw in the Phasor Domain.
J

—

Iem
A795{3 6800 2o





image5.jpeg
Room for extra work

);) We can wete KcL for the closed suvrface,

T3V = (12882 £-73%) = 3.5(3Vpnr - Vam ¢,
-12.396;{33

andk  Ohwmys Law \/fc/o(S

Vo = - (iaga) £3°)(18.95(33)
Solving, we obtain
U =(107.28L-161.517) [V}
U, =268 £-163°) V)
E(t) Jo7.a85v3 cos (#50 £ Tt - /em))





image1.emf
6.8[



]

C

A

 = 470[

m

F]

+

-

v

D

(t)

C

B

 = 180[

m

F]

i

E

(t)

2.2[



]

v

B

(t)

+

-

8.2[



]

L

B

 = 

62[mH]

3.9[



]

L

A

 = 

56[mH]

i

C

(t)

L

C

 = 

42[mH]

+

v

A

(t)

-


